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(A) (B) (A)-(B) (C) (D) (E) (D)~(E) (F)
5 M h 103,199 12,492 90,707 99,912 3,983 95,929
E R M 12,547 6,567 5,980 9,675 3217 6,458
# = 12,856 5,332 7,524 9,183 2,609 6,574
mE ™ 21,175 5,871 15,304 17,447 2,239 15,208
+ & ™ 15,142 5,976 9,166 11,624 1,588 10,036
A g ™ 12,713 5,630 7,083 9,821 1,511 8,310
Bm £ W 14,303 6,255 8,048 9,482 1,494 7,988
TiEFKT 14,833 9,054 5,779 9,280 2,289 6,991
B+ 22,137 9,984 12,153 15,049 2,327 12,722
F mom 16,105 4,835 11,270 12,201 1,136 11,065
F W 22,453 12,151 10,302 12,950 2,984 9,966
B OF O 3,648 2,351 1,297 1,795 635 1,160
= 3 FET 2,325 1,139 1,186 1,646 346 1,300
H % H 1,756 770 986 1,591 388 1,203
Z H 2,657 1,454 1,203 1,699 526 1,173
& N #w 1,670 1,022 648 732 175 557
E B & 756 324 432 440 143 297
e 3,393 1,877 1,516 1,281 174 1,107
A W0 H 4,095 2,580 1,515 1,909 510 1,399
X 2 H 7,480 4,541 2,939 3,755 1,463 2,292
T & B 4,156 2,579 1,577 1,978 368 1,610
X N 604 306 298 259 101 158
L o HT 16,885 8,160 8,725 10,183 1,734 8,449
= & )l BT 14,647 12,226 2,421 4,939 1,932 3,007
th + {£ HT 5,604 2,866 2,738 4254 886 3,368
& Nl HT 10,273 5,344 4,929 6,599 1,418 5,181
HMoOom HT 8,091 5,720 2,371 3,462 1,032 2,430
¥ R H 4,226 2,512 1,714 2,118 515 1,603
A & # 5014 3,052 1,962 2,671 540 2,131
b= O} 6,883 4,280 2,603 3,044 552 2,492
N 5+ HT 17,365 9,507 7,858 10,322 2,635 7,687
X B H 7,297 5,525 1,772 3,575 1,189 2,386
= &’ # 1,471 701 770 860 211 649
£ 3 H 7,879 3,690 4,189 5,841 724 5117
m Hi 267,463 84,147 183,316 216,624 25,377 191,247
BT &t 138,175 82,526 55,649 74,953 18,197 56,756
=) it 405,638 166,673 238,965 291,577 43574 248,003
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5,294 2,676 2618|= %0 T
227 96 1BI|Z F
359 167 192|]% %= ™
1,202 552 650|m8 E T
503 258 245\ & ™
569 290 279|178 B T
490 220 270|8 £ T
412 259 153| L {&F K
1,166 749 MIlm B+ ™
492 261 231|F ™M T
416 198 218|F = ™
63 33 0| F H
95 47 48|%& #F #| HT
107 57 50|H %7 HT
101 56 45|1% H Hr
54 30 244t N #
64 36 28| B H
83 41 N2l=
114 58 56|A& LU HT
140 66 74K = H
143 78 65| {& HT
48 29 19|xX Nl #
371 174 197|Ly @ HT
210 120 90f{= i JII HET
119 65 54|¢ * 1k HT
164 75 894 JII HT
279 191 88|#% %0 HT
136 71 65|18 = HT
137 57 80|l & #
148 72 76|:E EF HT
355 182 173|™ 5 + HT
99 41 58| X A Hr
48 31 7= & #
162 69 93|28 # H

11,130 5,726 5,404 H

3,240 1,679 1,561|BT #f 3

14,370 7,405 6,965|& B
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